Vision for action

. EyeLink Kinarm interface

| (Host-PC) computer (Dexterit-E)
'

1 :

' I

v

Kinarm real-time
computer (xPC-Target)

T
!
‘
\
! Setup Hardware
v v User input buttons

Rewart
Electrophysiology Buzzer
DAQ system Photoresistors

De Haan et al., J Neurophysiol (2018)

Lead author: Demetrio Ferro

Center for Brain and Cognition, Universitat Pompeu Fabra, . .

Department for Engineering and Communication Technologies, u Universitat

Carrer Ramon Trias Fargas, 25-27, 08003, Barcelona, ES. p . Pomp(leu Fabra
Barcelona

demetrio.ferro@upf.edu, d-ferro.github.io, gin.g-node.org/56Fe, d-ferro.bsky.social



mailto:demetrio.ferro@upf.edu
http://d-ferro.github.io
http://gin.g-node.org/56Fe
http://d-ferro.bsky.social

Vision for action

_ Subject  Task VI/V2  V1/V2(s) DP DP(s) 7a 7a(s)  M1/PMd M1/PMd(s)
Subject E ~E land002 4 4 14 10 24 15 1M3(A)  29(A)
SE land001 8 5 22 17 22 15 101(A)  31(A)

(Data ready, not yet analyzed)
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Progress report:

- Extracted spikes by adding 500 ms pre-start time

- Selected all and only the time points that contained all trials

- Time-locked across trials at the end of each task epoch (not only at the start)
- Improved the Mutual Information analyses

- Implemented Classification of landing sequences

Using spike counts cell-by-cell (univariate)
Using spike counts at cell population level (multivariate)

- Explored time generalization properties of the classifiers

(train at one epoch, test at subsequent epoch)
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